) 0

"o SGS SGS

Decl. No. SCD500153_DC

Dichiarazione di performance
Declaration of performance

Il Fabbricante: Tecnosystemi S.p.A. Societa Benefit
The Manufacturer: Via dell'Industria, 2/4
31029 Vittorio Veneto (TV) - ITALY

dichiara che i prodotti: Vedi Allegato 1
declares that the products: See Annex 1

sono idonei all'impiego al quale sono destinati, ovvero a sostenere le unita esterne motocondensanti, VRV, VRF, caldaie
a basamento secondo il carico di portata massimo indicato in Allegato 1.

are suitable for the use for which they are intended, i.e. to support outdoor condensing units, VRV, VRF, floor-standing
boilers according to the maximum capacity load indicated in Annex 1.

La presente dichiarazione di conformita é rilasciata sotto la responsabilita esclusiva del fabbricante.
This declaration of conformity is issued under the sole responsibility of the manufacturer.

Luogo, data: Vittorio Veneto, Firmato a nome e per conto di:  Tecnosystemi S.p.A. Societa Benefit
Place, date  02/08/2023 Signed for and on behalf of: Nome: ANNA -

Name:

Funzione: Legale a

Function: Legal Representative

TECNOSYSTEMI S.p.A. Societa Benefit

Via dell'Industria, 2/4 - Z.i. San Giacomo di Veglia 31029
Vittorio Veneto (TV)

Tel. +39 0438.500044 - Fax +39 0438.501516

email: info@tecnosystemi.com

C.F.- PIVA - R.I. TV IT02535780247

. Cap. Soc. € 5.000.000,00 i.v.
W W W . 1’ e C n O S y S 1’ e m l . C O m IszsReogcislroA,EAE. ITO90I1‘10000005749PILE IT17030P00004435



ONE ACCESSORI PER CONDIZIONAMENTO

TURING OF ACCESSORIES FOR AIR COND

Jecnosystemi
| group

SGS

Allegato 1

Annex 1

SGS

Codice Descrizione ITA Description ENG Portata max.
prodotto Max. load
Part Number kgl
SCD500153 EXTREME 100 - 8" 600 - BASE A PAVIMENTO SBR “EXTREME-8” 600 - FOOT MOUNT WITH ALU 500
(CONF. 3 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
SCD500235 EXTREME 100 - 8" 600 - BASE A PAVIMENTO SBR “EXTREME-8” 600 - FOOT MOUNT WITH ALU 500
(CONF. 3 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
SCD500236 EXTREME 100 - 20" 600 - BASE A PAVIMENTO EXTREME 100 - 20" 600 - Rubber foot (Set of 3 pcs) 500
(CONF. 3 PZ.)
SCD500154 EXTREME 100 - 20" 600 - BASE A PAVIMENTO EXTREME 100 - 20" 600 - Rubber foot (Set of 3 pcs) 500
(CONF. 3 PZ.)
11105060 EXTREME 100 - 8" 250 - BASE A PAVIMENTO SBR “EXTREME-8” 250 - FOOT MOUNT WITH ALU 200
(CONF. 2 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
11105062 EXTREME 100 - 8" 450 - BASE A PAVIMENTO SBR “EXTREME-8” 450 - FOOT MOUNT WITH ALU 300
(CONF. 2 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
SCD500237 EXTREME 100 - 8" 450 - BASE A PAVIMENTO SBR “EXTREME-8” 450 - FOOT MOUNT WITH ALU 300
(CONF. 2 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
11105064 EXTREME 100 - 8" 600 - BASE A PAVIMENTO SBR “EXTREME-8” 600 - FOOT MOUNT WITH ALU 500
(CONF. 2 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
SCD500238 EXTREME 100 - 8" 600 - BASE A PAVIMENTO SBR “EXTREME-8” 600 - FOOT MOUNT WITH ALU 500
(CONF. 2 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
11105066 EXTREME 100 - 8" 1000 - BASE A PAVIMENTO SBR “EXTREME-8” 1000 - FOOT MOUNT WITH ALU 650
(CONF. 2 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
11105068 EXTREME 100 - 8" 1200 - BASE A PAVIMENTO SBR “EXTREME-8” 1200 - FOOT MOUNT WITH ALU 750
(CONF. 2 PZ.) PROFILE, FIXING BOLT, WASHER AND NUT M8
SCD500071 EXTREME 70 - 8" 450 - BASE A PAVIMENTO “EXTREME 70 - 8” 450 - FOOT MOUNT 300
(CONF. 2 PZ.)
SCD500072 EXTREME 70 - 8" 600 - BASE A PAVIMENTO “EXTREME 70 - 8” 600 - FOOT MOUNT 500
(CONF. 2 PZ.)
11105060V EXTREME 100 - 20" 250 - BASE A PAVIMENTO SBR “EXTREME-20" 250 - FOOT MOUNT WITH ALU 200
(CONF. 2 PZ.) PROFILE, THREADED PLATE TYPE B, WASHER AND
NUT M8
11105062V EXTREME 100 - 20" 450 - BASE A PAVIMENTO SBR “EXTREME-20" 450 - FOOT MOUNT WITH ALU 300
(CONF. 2 PZ.) PROFILE, THREADED PLATE TYPE B, WASHER AND
NUT M8
SCD500241 EXTREME 100 - 20" 450 - BASE A PAVIMENTO SBR “EXTREME-20" 450 - FOOT MOUNT WITH ALU 300
(CONF. 2 PZ.) PROFILE, THREADED PLATE TYPE B, WASHER AND
NUT M8
11105064V EXTREME 100 - 20" 600 - BASE A PAVIMENTO SBR “EXTREME-20" 600 - FOOT MOUNT WITH ALU 500
(CONF. 2 PZ.) PROFILE, THREADED PLATE TYPE B, WASHER AND
NUT M8
SCD500242 EXTREME 100 - 20" 600 - BASE A PAVIMENTO SBR “EXTREME-20" 600 - FOOT MOUNT WITH ALU 500
(CONF. 2 PZ.) PROFILE, THREADED PLATE TYPE B, WASHER AND
NUT M8
11105066V EXTREME 100 - 20" 1000 - BASE A PAVIMENTO SBR “EXTREME-20"” 1000 - FOOT MOUNT WITH ALU 650
(CONF. 2 PZ.) PROFILE, THREADED PLATE TYPE B, WASHER AND
NUT M8
11105068V EXTREME 100 - 20" 1200 - BASE A PAVIMENTO SBR “EXTREME-20"” 1200 - FOOT MOUNT WITH ALU 750

(CONF. 2 PZ.)

NUT M8

PROFILE, THREADED PLATE TYPE B, WASHER AND

W WW.

tecnosystemi. co

TECNOSYSTEMI S.p.A. Societa Benefit
Via dell'Industria, 2/4 - Z.i. San Giacomo di Veglia 31029

Vittorio Veneto (TV)

Tel. +39 0438.500044 - Fax +39 0438.501516

email: info@tecnosystemi.com
C.F.- PIVA - R.I. TV IT02535780247
m Cap. Soc. € 5.000.000,00 i.v.

Iscr. Registro A.E.E. 1T09010000005749 PILE [T17030P00004435




ONE ACCESSORI PER CONDIZIONAMENTO

TURING OF ACCESSORIES FOR AIR COND

lecnosystemi

SGS

SGS

Codice Descrizione ITA Description ENG Portata max.

prodotto Max. load

Part Number kgl

SCD500073 EXTREME 70 - 20" 450 - BASE A PAVIMENTO EXTREME 70 - 20 450 - FOOT MOUNT 300
(CONF. 2 PZ.)

SCD500074 EXTREME 70 - 20" 600 - BASE A PAVIMENTO EXTREME 70 - 20 600 - FOOT MOUNT 500
(CONF. 2 PZ.)

11105059 EXTREME 100-A" 250 - BASE A PAVIMENTO SBR "EXTREME-A" 250 - FOOT MOUNT W/O ALU 200
(CONF. 2 PZ.) PROFILE

SCD500245 EXTREME 100-A" 450 - BASE A PAVIMENTO SBR "EXTREME-A" 450 - FOOT MOUNT W/O ALU 300
(CONF. 2 PZ.) PROFILE

SCD500246 EXTREME 100-A" 600 - BASE A PAVIMENTO SBR "EXTREME-A" 600 - FOOT MOUNT W/O ALU 500
(CONF. 2 PZ.) PROFILE

11105071 EXTREME 100-A" 1000 - BASE A PAVIMENTO SBR "EXTREME-A" 1000 - FOOT MOUNT W/O ALU 650
(CONF. 2 PZ.) PROFILE

11105072 EXTREME 100-A" 1200 - BASE A PAVIMENTO SBR "EXTREME-A" 1200 - FOOT MOUNT W/O ALU 750
(CONF. 2 PZ.) PROFILE

SCD500075 EXTREME 70 - A" 450 - BASE A PAVIMENTO EXTREME 70 - A 450 - FOOT MOUNT 300
(CONF. 2 PZ.)

SCD500076 EXTREME 70 - A" 600 - BASE A PAVIMENTO EXTREME 70 - A 600 - FOOT MOUNT 500

(CONF. 2 PZ.)

W WW.

TECNOSYSTEMI S.p.A. Societa Benefit
Via dell'Industria, 2/4 - Z.i. San Giacomo di Veglia 31029

Vittorio Veneto (TV)

Tel. +39 0438.500044 - Fax +39 0438.501516

email: info@tecnosystemi.com
C.F.- PIVA - R.I. TV IT02535780247

.
Cap. Soc. € 5.000.000,00 i.v.
1’ e C n O S y S 1 e m I . C O m Iscr. Registro A.E.E. [TO90I1‘2)000005749 PILE IT17030P00004435




